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Equation Sheet 
 
 

Waves:   v = ·f        linear mass:       = 
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standing waves:  on string and in open pipe at both ends:     n = 1, 2,  3.,      f = n
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 in pipe closed at one end:  n = 1, 3, 5, …          f = n
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interference: constructive:   d2-d1  =  n           f = n
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Electric charge:         q = Ne             
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k = 8.99x109 Nm2/C2               e = 1.6 x 10-19 C        me = 9.11x10-31 kg              Circuits:           
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R = R0[1 + (T- T0)];             V = I*R                 I =
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t

E
P


              P = I2R         

 

P  = 
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     P =  I*V;                      in series :   Req =  R1+R2+…+Rn              in parallel:  1/Req =  1/R1+1/R2+…+1/Rn               

 
 
 
 
 

 


